Clesing Tuesday: = 2.3 (part 1)
:-Ql@sing Thursday: 2.3(part 2), 1.5
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Quadratic Business Applications
mple: You sell Things. ,
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(& Find the price function.
('3 Find TR(q) TC(q), profit functions.
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@) Find AC(q) and AVC(q). (f) At what quantity is profit

_Te(q) _ b9 20 _ 20 maximized? What is max profit?
pel=T50 = k= o g S it
T T % What is the selling price when
o | profit is maximum?
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How to approach the problems:

| ( _ TQ(@G) a X
STEP 0: Read the question. Identify Tﬂ(%) =P % | hclp= o = T =4 -Ach)
|

+he function(s) in the question. Teg)= FC +Udy) ‘ MC@:\JC‘;@X & veld=g - Aty
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Zandom Problems from Homework:
2.3[2:
((x) = 21000 + 55x + 0.3x% and
E(x) = 425x — 0.7x2.
% ~d break even points. «—
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2.3/5: Price peritemis p =150 - 0.80x,
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2 2/7(d): For what range of quantities

i<AVC(q) = (1/30)g*-(3/10)g+1 at
most $0.557
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2.3/9(c): Give the longest interval on
which TR(q) = -0.16g? + 24q and
Profit = (-0.16qg% + 24q) — (6g+175) are
both increasing.
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2 2/8,9: TR(q)=-0.259%+ 30q

7) PN AT

TC(q) = 17.5q + 100 — B 1N THouANDS

(a) Find MR and MC formulas THew  0.0d1  \S Hens

(b) Find AR and AC formulas e —
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One More Big Example: TC(q) = Fe +velad
You sell Objects. Your finance specialist

.analyzed your cost and given you

following: B S —

\NC(q) = 0.01g%-0.135q¢% + 0.6075q AC(g)= — + O o\ % -0 \ «'% + 0, (00:1 r(

mc(q) = 0.03q? - 0.27q + 0.6075 " %,., e
FC = 90 hundred dollars -

Market price = p = 30 dollars/Object \q >

in hundreds of Objects
\VCis in hundreds of dollars
v is in dollars/Object (as it always |s')

Question 0: Profit=P(q) = Ti(g) — TC(g)
Fnd all the other business functions.
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Now let’s forget the given market price
and do a general cost analysis.
' WYhat is break even price (BEP)?
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